S050-P001 obooOs0 290 17:15-18:45

gotboboboobooboobouobuobboobooboobouobuod
Oo0@ubboobboobobooobobooon

The Coherency Estimate Method of Short Span Array Wave Data which uses Complex
Wavelet Transform, part 2.
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fsc(t) =5 p(k)fsc(2t-k) fwt(t) =5 q(k)fsc(2t-k) (p,qO O ODO) ...01
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[fwt(2"mt), fwt(2*nt)] =0 (DO m # n)...2

[fwt(2"mt) , fwt(2*nt)] = 1 (m = n)

[fwt(2"mt),fsc(2*nt)] = 0 (m = n)

(Itooooooogooo)

0000000000000 0000000000A0 [Chui(1997)]0

fsc(2t)= > ( a(k)fsc(t-k)+b(k)fwt(t-k)) (a,b0Cd)... 3
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xsc(t) = Z C(k)c(t-k)+D(K)d(t-k) ... 4
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xsc(t) = [x(t),fsc(2”nt)] c(k)= [fsc(2*(n-1) t),fsc(2*n t -k)] d(k)= [fwt(2*(n-1) t),fsc(2*n t -k)]
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dr(k) = [Re(fwt(2"nt)),fsc(2”nt-k)] di(k) = [Im(fwt(2”nt)),fsc(2*nt-k)]O ... 6
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